Fraction
Exercise 5A

Q1

Answer :

(i) The shaded portion is 3 parts of the whole figure.
. 3
wo
{ii) The shaded portion is 1 parts of the whole figure.
= il
1
(ii) The shaded portion is 2 parts of the whole figure.
; 12
3
{iv) The shaded portion is 3 parts of the whole figure.
; B
T
(v)The shaded portion is 4 parts of the whole figure.
.4
3
(wi} The shaded portion is 3 paris of the whole figure.
3

Q3
Answer :

The given rectangle is not divided into four equal parts

Thus, the shaded region is not equal to i of the
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Answer :

OF SENUE. MmE Mg M3
(vi) 2 (vii) £ (vill) <5

Qs

Answer:

Numerator Denominator
(i) 4 9
(ii) & 1
(iii) 8 15
(iv) 12 17
(v) 5 1

Qé

Answer:

m: (if) = (V) 7=

Q7

Answer :

(i) two-thirds
(i) four—ninths
(iii) twa—fifths

(iv) seven—tenths
(v) one—thirds c
(vi) three—fourths
(vii) three—eighths

{viil) nine—Tfourteenths .

(ix) five—elevenths

(x) six—Tfifieenths

Q8 o

Answer :

We know: 1 hour = 60 minu
=~ The required fraction = %
Q9

Answer :

There are total

numbers, 2, 3. 5, 7 are the prime numbers.
~ The required fraction = 2

Qut of these natur

7
Q10

Answer :

(i)%oﬁﬁpens:(% xi) = 10 pens
(i) 2 of 27 balls = (% * i) = 18 balls

(iii) 2 of 36 balloons = (% X i) = 924 balloons
Q11
Answer:



Q12

Answer :

A 2 _ o0 Penils
5 1
Thus, Meena gets 20 pencils.

Neelam gives % of 25 pencils to Meena.

~ Number of pencils left with Neelam = 25 — 20 = 5 pencils
Thus, 5 pencils are left with Neelam.

Q13

Answer :

Draw a 0 to 1 on a number line. Label point 1 as A and mark the starting point as 0.

(1) Divide the number line from O to 1 into 8 equal paris and take out 3 paris from it to reach point P

8

.
L

A
1

- 1 1 1
- T

4

=

L J

=1

it ach point P,
O P A
-+ } t —t— } } -
O 417 !
(lv) Divide the number line from 0 to 1 into 5 equal parts a ke [‘ parts from it to reach point P.
O P A
-+t —t+— t —
0 2/5 1

(v) Divide the number line from 0 to 1 in

Npan and take out 1 part from it to reach point P.
O P A

—t
0 1/4 1



Fraction
Exercise 5B

Q1.
Answer :
1 3 1
2 57 11
Q2
Answer :

A fraction whose numerator is greater than or equal to its denominator is called an improper fraction.

3 9 8 2 19 26 - ’
Hence, 5, 7, §» T5» 15 and 35 are improper fractions.

Q3

Answer :

Clearly, 2, £, §, 2, T and 1 are improper fractions, each with 5 as the denominator.

Q4

Answer :

Clearly, %, %, %, 1—:, 1—53, % are improper fractions, each with 13 as i I.
Q5 :
Answer:

We have: o
ek o EXT4LE a4

Wi =7 = 3

{“)gg o {9)(3)4-3 _ 75 .

[ 8 8

cin3 _ (0x10)43 g x

(m)ﬁﬁ N T - _Q

: 5  (axu}+s

IR, \

9

" 7

(\n)12ﬁ

o8 _ (Bx13)+8 133

Mg = =x— =5

3 (sax3)+2 g5

(vm)51§ et
Qo6

Answer:

(i) On dividing 17 by 5, we get

Quotient = 3
Remainder = 2

S 2 _ g2
ng = 3+5 = 35

{iiy On dividing 62 by 7, we get:
Quotient =8
Remainder =6
. R § _ gt
“= o= 8 +7 = 8?

(i) On dividing 101 by 8, we get
Quotient = 12
Remainder=5
B (1} R 5 _ 195
ng = 1243 =125



(iv) On dividing 95 by 13, we get:
Quotient=7
Remainder = 4

.95 4 _
2B - 74d =7

Gl=

(v) On dividing &1 by 11, we get:
Quotient =7
Remainder = 4
. OBL 4 _ =4
S T 7 -I—ﬁ = TE

(vi) On dividing 87 by 16, we get:
Quotient=5
Remainder =7
. BT _ T _ =T

(vii) On dividing 103 by 12, we get:
Quotient =8
Remainder =7
. 103 7T _ T
2 = 84+5 =85

(viii) On dividing 117 by 20, we get:
CQuotient = 5

Remainder = 17
117 - .17 - 17

Q7
®

Answer:

An improper fraction is greater than 1. H(ice, i ays greater than a proper fraction, which is less
than 1.

mif<1 x
OF 1 Q
(iii) 1 g

(i) §

v) So1g [=11

(vi) & 1

Q8

Answer:

(i) Draw a number line. Mark 0 as the starting point and 1 as the ending point.
Then, divide 0 to 1 in four equal parts, where each part is equal to 1/4.
Show the consecutive parts as 1/4, 1/2, 3/4 and at 1 show 4/4 =1.

1 M 1 1 -
T T T T -

0 1/4 2/4 3/4 1=4/4

(i) Draw 0 to 1 on a number line. Divide the segment into 8 equal parts, each part corresponds to 1/8.
Show the consecutive parts as 1/8, 2/8, 3/8, 4/8, 5/8, 6/8, 7/6 and 8/8. Highlight the required ones only.

1 1 1 1 1 1 1 -
T T T T T T T Ll

0 1/8 2/8 3/ 5/8 7/8 1=8/8

R |
e |

(i) Draw 0 to 2 on a number line. Divide the segment between 0 and 1 into 5 equal parts, where each
part is equal to 1/5.
Show 2/5, 3/5, 4/5 and 8/5 3 parts away from 1 towards 2. (1 <8/5 < 2)

0 2/5 3/5 45 1 8/5 2




Fraction
Exercise 5C

Q1

Answer :

('Jz =2x2 = 2x3= !!x-l= 2xh5 i 2xh
3 Ix2 3x3 Jx4 3x5 il
2o A _ 8 & W . . 0
¥ T 6 9 T 12 T 15 T 18

¥ z 2 4 8

Hence, the five fractions equivalent to sare ¢, 3

(-“) £ - 4x2 = Ax3 i 44 == dxh = Axf
5 %2 5x3 5x4 5x5H hxb
4 _ 8 _ 12 _ 16 220 _

5 — 10 — 15 T 20 T 2% T 3
8

Hence, the five fractions equivalent to % are

12 16

I
b

W0 15 W

(iii) B = 5x2 F 53 = S e 5xb s Sxifi
8 Bx2 B3 Hxd Bxb Bx0
;B o b 5 m 3 _
& 18 T 24 T 32 40 0 &

Hence. the five fractions equivalent to % are % 3

15
24 L

(iv) A, T TX _ Tx4 _ Txb Tx8
10 102 10x3 10x4 1 {i]

I
I
sl

Hence, the five fractions equivalgnt a4

{V) 3 _ 3Ix2 _ L 3x5 _ 36
T Tx2 w4 Tx5 T=6
3 _ 8 _ 3 i L _ 18
T T 14 — =, — 28 — 3% 42
: . 3 [ 9 12 15 18
Hence, the five fractions equivalent to R e P - and =
{Vi) b6 _ 6x2 Gx3 Gx4 _ 6Gx5 Gx6
11 7 1ix2  1ix3 ~ 1ixd | 1lxh 11w
6 _ 12 _ 18 _ 2 _ 30_ 3
11 T o, T 33 T M 55 66
: . [ 12 18 24 30 36
Hence, the five fractions equivalent to A Sy 2 e B and =
wm I =Tx2 = ?x3= '!x4= Tx5 == TG
9 9x2 93 Gx4 9xb Y6
o o A B @ %
] 18 27 38 — 4~ b4
i i 7 14 21 28 35 42
Hence, the five fractions equivalent to 7€ Eym R ow and -
wm] A = ax2 . 53 o Sxd == Sx5 56
12 12x2 12%3 12%4 12x5 12x6
5 _ 1 _ 15 _ 20 _ 2 _ X
‘12 T 24 T 3@ 48 60 72
i i 5 10 16 20 25 30
Hence, the five fractions equivalent to TACTY 59 BYw and =

28
20 30° W7

21 35
50

30
d 2

and %_



0?2

Answer :

The pairs of equivalent fractions are as follows:

o B 20 20 Sxd

() g and 3 (5 = u—L)
()2 and £ (5 - %)
: 2 14 14 2xT
(v) 5 and 5 (a = %)
Q3

Answer :

metd = 2

Clearly, 30=5x 6
So. we multiply the numerator by &.

.3 _ 3x6_ 18
5 - hxt T 3
Hence, the required fraction is %_
- L ﬁ
(i} Lelg = =

Clearly, 24=3 % 8
So, we multiply the denominator by 8.

T R S -

"B~ ExB 40

Hence, the required fraction is %_
Q4

Answer :

i 5 o E

(i) Leti =]

54 o
Clearly, 54 =9 x 6

So, we multiply the numerator by 6.

L5 5x6

o ax6 54 .
Hence, the required fraction is el

5 35 B
(i) Leti =
Clearly, 35 =5 x 7

So, we multiply the denominat
.5 _ T _ 3

e 9x7 63
Hence, the required fracti

Q5
Answer:
(hlet & = &

Clearly, 77T=11 x 7
So, we multiply the numerator by 7.

sl BT AR

T T T E ]

Hence, the required fraction is %
” 4 _ 60

(i) Let rr il

Clearly, 60 =6 X 10
So, we multiply the denominator by 10.

i) Gx10 i01]

T T Tixw . 10
Hence, the required fraction is i

Q6

Answer:

2 _ 4
E_Eiﬁ =
Clearly, 4=24 + 6

S0, we divide the denominator by 6.
.2 24:6 _ 4

30 — 306 &

Hence, the required fraction is %.

Q7



Answer:

(I)LEIE = -

Clearly, 9 =36 <+ 4
So, we divide the denominator by 4.

.36 _ 36:4 9

T48 T 484 12

Hence, the required fraction is %
. 3 _ O

(ii) Lelﬁ = 3

Clearly, 4 =48 - 12

So, we divide the numerator by 12.
36 _ 3612 3
48 T 48112 T 4

Hence, the required fraction is %_

Q8
Answer :

= 56 _ 4
(MLetgg = =

Clearly, 4 =56 = 14
So, we divide the denominator by 14.

.66 _ EB:il4 _ 4

T T4 T B

Hence, the required fraction is %.
(i) Let == = =

Clearly, 10=70 +7

So, we divide the numeratar by 7.
B8 BbxT B
TP T foxT 10 n

Hence, the required fraction is ETE

Q9

Answer :

(i) Here, numerator = 9 and denominator = 15
Factors of 9 are 1, 3 and 9.

Factors of 15 are 1, 3, 5 and 15.

Common factors of 9 and 15 are 1 and.
H.C.F. of 9 and 15 is 3.

.9 03 3

BT TS v
Hence, the simplest form of

(ii) Here, numerator = 48 and\de ator = 60

L1216, 24 and 48.

6, 10, 12, 15, 20, 30 and 60.
de0are 1,2, 3 4 6and12.
H.C.F. of 48 and
.48 48:12

T% G012z 5
Hence, the simplest form of % is %_

Q10



Answer:

(i) Here, numerator = 8 and denominator = 11
Factors of 8 are 1. 2, 4 and 8.
Factors of 11 are 1 and 11.
Common factor of 8 and 11 is 1.
Thus, HC.F. of 8 and 11 is 1.

. 2 is the simplest form.

Hence
(ii) Here, numerator = 9 and denominator = 14

Factors of 9 are 1, 3 and 9.

Factors of 14 are 1, 2, 7 and 14.

Common factor of 9 and 14 is 1.

Thus, HC.F.of 9and 14 is 1.

2 is the simplest form.

Hence,

(iii) Here, numerator = 25 and denominator = 36
Factors of 25 are 1, 5 and 25.
Factorsof 36 are 1,2, 3, 4,6,9. 12, 18 and 36.
Common factor of 25 and 36 is 1.
Thus, HC.F. of 25 and 36 is 1.

Hence, % is the simplest form.
Q11
Answer:
0w (3-24-2)
(ii) 21 (g == = %)
we (3-8 -2
mr (&= 2= 5 °
ws (% - &5 -3)
e (#-82-1)



Fraction
Exercise 5D

Q1

Answer:

Like fractions:

Fractions having the same denominator are called like fractions.
.3 5 i09 10

Examples_ TR TR A T T

Unlike fractions:

Fractions having different denominators are called unlike fractions.

Examples: 3, 2, &, &, 2

R RS TIRET

Q2

Answer:

i1

The given fractions are % . and —

= B
Gl

55.10,15.30
2[1236

31133
INIRER
LCM of 5,10, 15and 30=(5 x 2 x 3)=30
So, we convert the gi\fen fractions into equivalem fractions with 30 as the
{El.lt, one of the fractions alread‘y has 30 as its denominator. So, there Ed to convert it into an
equivalent fraction.)

Thus, we have:
3 3x6 T 73 21 . 8

ER - — T — . § 8 1.
5  Gx6 30’ 10  10x3 3 ' 15 T
and 2%,

Hence, the required like fractions are 3o, 3, 2%

Q4



Answer:

Between two fractions with the same denominator, the one with the greater numerator is the greater of
the two.

=

(i) >
(i) <
(iv) >
V)=
(vi) =<

Q5

Answer :

Between two fractions with the same numerator, the one with the smaller denominator is the greater of
the two.

=
(i) >
(iii)<
(iv) >
V)<
(vi) =

Q6 o

Answer :

4 5

507 o

By cross multiplying:

5x5=25and4 x7=28 x
Clearly, 28 > 25

.4 5

SoE > 7 t

Q7
Answer:
3 2
8 6
By cross multiplyi
3X6=18and5 x 8=40
Clearly, 18 < 40
3 5

S < %

By cross multiplying:
7Tx7=49and 11 x 6 =66
Clearly, 49 < 66

T i

..E‘ﬁ:?

Q9



Answer:

A

1’7

By cross multiplying:
5x11=55and9 X 6=>54
Clearly, 55 » 54

. B 9
5 701
Q10
Answer :
i 8
1 ' T

By cross multiplying:
2x9=18and4 x 3=12
Clearly, 18 = 12

2 4

“3 73

Q11

Answer:

s 3

13’ 4

By cross multiplying:
6x4=24and13 x 3=39
Clearly, 24 < 39

. 6 3
- < i
Q12
Answer:
5 3
13?7 4
By cross multiplying:
3x6=18and4 x 5=20 [ )
Clearly, 18 < 20
.3 5
S S
Q13 ®

Answer :

s@\
B 'iZ
By cross multiplying:

5x12=60and8 X 7=
Clearly, 60 > 56

o 7
T B
Q14
Answer :

LCM of9and6=(3 X3 Xx2)=18
Now, we convert % and % into equivalent fractions having 18 as the denominator.

L4 4x2 8 and & o— Bx3 _ 15

e T ex2 T 18 6 ~  6x3 18
8 15

CIe:]rIy, 135 < i

‘3 <%

Q15

Answer:

LCM ofband 10=(5 X 2)=10

Now, we convert % into an equivalent fraction having 10 as the denominator as the other fraction has

already 10 as its denominator.
nd _ sx2 8

5 %2 o

8 7
Clearly, ﬁ? > =

BT

Q16



Answer:

LCM. of8and10=(2 x5 x2xX2)=40
Now, we convert 7: and % into equivalent fractions having 40 as the denominator.

7 _ ixs _ 35 9 _ 9x4 _ 36
B BxbB T 40 W 10x4 40
35 36
Cle?arly, ‘“'g. < i
‘¥ < W
Q17
Answer :

LCM of12and15=(2 x 2 x 3 x 5) =60
MNow, we convert % and % into equivalent fractions having 60 as the denominator.

.11l _ 1ix5 _ 55 13 _ 13x4 _ 52
“E T e —wdME I Tw
Clearly, 32 > 2
L1 13
LT3 = =
Q18
Answer:
212468
2(1.234
211,132
31,131
LI
2 : 1.3 5 7
The given fractions ae 5, 31 5 and T .

LCM of2. 4 6and8=(2 X2 X2 x3)=

24
We convert each of the given fractions into an eggiv ion with denominator 24.
Now, we have:
1 e i 3x6 _.
2 T 2x12 T 24? =6
5 _ Bxd _ 2. o
[ - -

3
4 4
Sxd T 7
x4 B
Clearly, 22 <2 <32 %
1 3 5 i
7 <1 <F <%
Hence, the gyen i be arranged in the ascending order as foliows:
i 3 &
27 LT 67
Q19
Answer
The given fractions are%, B % and %
313,6.9,18
3L23.6
2112,L,2
|

LCM of2. 6. 9and18=(3 X2 X 3)=18
So, we convert each of the fractions whose denominator is not equal to 18 info an equivalent fraction

with denominator 18.

MNow, we have:
2 _ 2x8 _ 12,6 _ Bx3 _ 16,7 _ %2 _ 14
3 3x6 18’ 6 ~ 6x3 18 8§ ~  9x2 1§

Clearly, & <2 <4 <1
11

e e 2 ks 5
T <s <9'<u

Hence, the given fractions can be arranged in the ascending order as follows:

4 2 75
18 '3 70 76

Q20



Answer:

- : 2 7 1 17
The given fractions are EIEY & ke

LCM.of5 10, 15and 30=(2 x 5 X 3)=30

5|s.10.15.30
21236
3[1,1.33
ENINRR
So, we convert each of the fractions whose denominator is not equai to 30 into an equivalent fraction
with denominator 30.

Now, we have:

2 _ gx6 _ 12, T _ Tx3 _ 2. I _ Mx2 _ 22

5 ~  sx6 3’ 10 ~ 10x3 ~ 30 15 ~  15x2 30
12 17 21

Ciezarry‘;'?r {3.? <:'1.? =

R T i T

Hence, the given fractions can be arranged in the ascending order as follows:
2 w7
57 307 107 15

Q21
Answer :

) ) 3 7 1 23
The given fractions are §, ¢, 5 and 4.

LCM. of4, 8 16and32=(2x2x2x2x2)=32

_2]4.8,16,32
_212.438.16
211248
_2[1L1,24
2(1,1.1.2
IERRE ®
So, we convert each of the fractions whose denomin is ual to 32 into an equivalent fraction

with denominator 32.
Now, we have: o
3 _ 3x8 _ 24,7 _ Tx4 _ 2B, o z _ 22
4~ 4x8 ~ 32 8 Bxd4 327 16 - 32
2
3

CIearIy,% <% ﬂ—‘; {23

TR < R R {
"SR! <1 B
Hence, the given fractio nged in the ascending order as follows:

i z: 37
67 327 1 8

Q22
Answer:

) ) 3 5 11 17
The given fractions are 5, 2, 57 and .

LCM. of4,8 12and24=(2x2x2x3)=24

4.8,12.24

2,4.6,12

1,2.3.6

1.2,1.2

11,11

So, we convert each of the fractions whose denominator is not equal to 24 into an equivalent fraction

2
2]
3]
2

with denominator 24.

Thus, we have;
3x6 5 5x3 5. 11 11x2 22

3 _ 3x6 _ 18. 5 _ 5x3 _ — = Zz
4 T 4x6 T M B T Bx3 T M 12 T 12x2 ~ M

22 18 17 15
Clearly, 22 >3 >33 > ;4

11

o1 17
T 12

3
i >n
Hence, the given fractions can be arranged in the descending order as follows:
11 3 17 5

2?4 U’ B

Q23



Answer :

) : 7T 5 1 17
The given fractions are g, 5, 75 and —.

LCM 0of9, 12, 18and36=(3 x 3 x 2 x2)=36

319.12,18,36
_3 3.4.6,12
_2 1.4.2.4
211,212
INIRRE!
We convert each of the fractions whose denominator is not equal to 36 into an equivalent fraction with
denominator 36.
Thus, we have:

T _ x4 _ 2. 5 _ 5x3 _ 15, 11 iix2 _ 22

9 T oxd4 T 367 12 12x3 36 18 18x<2 36
28 22 17 15

Clearly, &= > 3% 3% ~ 3

N TR
] >18 }36}

Hence, the given fractions can be arranged in the descending order as follows:
I i 17 5
IR TR

Q24

Answer :

3 13.5.10,15
511,5,10,5
211,1,2,1
LLLI ®
So. we convert each of the fractions info an equ ith denominator 30.
Thus, we have:
2 _ 2xid _ 2,3 _ 3x6 _ 18,
3~ 3x10 30 &H  BxB »
T Ty _ 2

Hence, the given fracti
7T 2 3 8

ranged in the descending order as follows:

0 13E S
Q25
Answer:
" " 5 0 17 31
The given fractions are T4 10 T and ol

LCM of 7,14, 21and 42 =(2 x 3 x 7) =42

77142142
i 1.23.6
311,133
LLLL
We convert each one of the fractions whose denominator is not equal to 42 into an equivalent fraction
with denominator 42.
Thus, we have:

5 _ 5xf .09 _ 9x3 _ 271, 17 _ 1Tx2 _ 3

T T T« 427 14 14x3 427 1 T w2 T 42
34 31 30 27

CI(]E_?[W, 4—§l>_’—g >? }E

e T B ST U1

Hence, the given fractions can be arranged in the descending order as follows:
735 9
21742777 14

Q26



Answer:

L i1 1 L L
12237 719 17 5D "
As the fractions have the same numerator, we can follow the rule for the comparison of such fractions.
This rule states that when two fractions have the same numerator, the fraction having the smaller
denominator is the greater one.
1 1 1 1 1 1
Clearly, = >3 >4 > >w5 > %
Hence, the given fractions can be arranged in the descending order as follows:

i i L L L L
7'97 2 W W W

The given fractions are

Q27

Answer :

3 3 3 3 3 3
T 117 57 137 4 17 "

As the fractions have the same numerator, so we can follow the rule for the comparison of such
fractions.

This rule states that when two fractions have the same numerator, the fraction having the smaller

denominator is the greater one.

The given fractions are

Cearly, 3 >2 >3 >2 >332

Hence, the given fractions can be arranged in the descending order as follows:
3 3 3 3 3 3
47 5 7Y 11 13 17

Q28

Answer:

Lalita read 30 pages of a book having 100 pages.

Sarita read % of the same book.

2

2 = _ 200
£ of 100 pages = £ X 100 = e

= 40 pages
Hence, Sarita read more pages than Lalita as 40 is greater tha

@ &}‘y

To know who exercised for a Iongertime’f ompare § hour with % hour
On cross multiplying:
4x2=8and3 x3=9

Clearly, 8 <9
% hour < % hour
Hence, Rohit exercised Tor a % e.
Q30
Answer :
. : _2 _ 20:5 _ 4
Fraction of student: o passedin VI A= T = B T 3
. . _ 24 _ 24:6 _ 4
Fraction of students who passed in VI B = ™ - Foes %

In both the sections, the fraction of students who passed is the same, so both the sections have the
same result.



Fraction Exercise 5E

Q1l

Answer:

The given fractions are like fractions.
We know:

. . _ Sum of the nnmerators
Sum of like fractions = T 7l Tt

Thus, we have:
2

541
5 41 _ (s+1) &

-
=
=

[
o,
a
[
' ¥

Q2

Answer :

The given fractions are like fractions.
We know:

- - _ Sum of the numeratos
Sum of like fractions = G i

Thus, we have:
418 ‘
4,08 _ (418) 7

9 9 9 _5:

The given fractions are like fractions.
We kKnow:

- - _ Sum of the numerators .
Sum of like fractions = T 1 =

Q3
Answer : cc

Thus, we have:
3 4 _ B 14 (B414)
13 +2; = 2 + 4

>
Q

Read More:



Q4

Answer:

LCM of9and6=(2 x 3 x 3)=18

9,6
32

2

L1
Now, we have:

=

2 _ 2x2 _ 4.5 _ 5x3 _ 15

8 Txz 18'6  6x3 18

2 5 _ 4 15 (1+15) 19 1
B e R T B w =13
Q5
Answer :

LCM. of12and16=(2 X2 X2 X2 X 3)=48

12.16

7T _ _ 2. 9 _ _
2~ Tz=4 ~ B*' T 16 = 3 .
7 9 2 27 (8427)
2tw =~ T8~ ® =

Q6 o

L.C.M.of 15 and 20 = (3 x. Ak 2 X2).=
15,20

5

334
PPN
2

L4y 17 (16451)
- 15 2 60
{[60 = 15 = 4,4 x 4 = 16] and [60 + 20 = 3, 17 x 3 = 51]}
— 5 _ 97
() ]

Q7



Answer:

We have:

&
2
3

| 13
et
lad | Ld

1
+ 5

-
M

2

' 1)

.h|"‘

5
5
=42 +32 L.C.M.of4and6=(2x2x3)=12

(66 4 140)

24
{24 = 4=6,6 x 11 = 66]and [24 = 6 = 4,4 x 35 = 140]}
ﬁlﬂ E

Zru

Bl~

[ [ro] o [0

1 5

=2+ 5 L.C.M.ofSandl2=(‘x2,x2x3)=24

(B34
2

®
4[24 + 8 = 3,3 x 25 = 75] and [24 + : = 34]}
= =18 :
24 24
X

Q9

— 89‘

5 [10.15
223 0
31,

]

7 8

(W8]

—
—_

=1

+ 2 L.C.M.uf10and15=(2x3x5)=3{1

{81 4 108)

30
{[30 =10 = 3,3 x 27 = Bl] and [30 =+ 15 = 2, 2 x 53 = 106]}
187

& il
=m =0%

Q10



) 5

=3 +5+3 L.C.M.of'saud6=(2x3)=ﬁ

(22411 419)
= —
{6+3=22x11=22,[6+6=11x11=11]and[6+1=6,6 x 2 = 12}

Y ST _7

15.20

3
20
. R L.C.M. of 15 and 20 — 3x5)=

(180 4 78 | 69)
= 7 ®w

@
{60 = 1 = 60, 60 x 3 = 180], [60 = 15 4%76]aud[60+20=3,3x23
25" _ % _ g5

T w, m O Um
o
Q12

Answer:

We have: t

31 +41 +63

— 0, 3wy ¥ L.C.M.of3,4and6=(2x2x3)=12

(404514 74)
= —
{12 +3=4,4x10=40],[12 + 4=3,3 x 17 =51]and [12 + 6 =2,2 x 37 =

P 55 3

Q13



We have:
33,6918
2(1236
3[1133
LLL1
2 1 2 5
3 + 33 + 45 -+ Qﬁ
=2+ 32 +F+ 5 L.G.M.of?.,ﬁand!]:(2x3x3)
=18

(125770 p41)
- 18

{[18+3=6,6x2=12,[18=6=233x 10 = 57,
[18 =+ 0 =2,2 x 38 — 76| and [18 = 18 = 1,1 x 41— 41]}

g™ 31 1
o — 3 =105
Q14
Answer :
We have:

3|3.4.6,12
2[1.424
2

1203

BN

21 +17 +23 +3% ‘ :
=% p Ry 8 L.C.M. of 3, 4 12 =

3 6

(2x2x3)=12

(28415 4 34 ¢ 43)

12 .

{12 =3 —4,4x7—28), 12 -4 3 3% 5 — 15|,

[12+6—-22x17—3 -Gy & 1 43 — 43)}
10

_ A

M,

]
o
o
-+
—_
e
-+-
(]
|

56 L.C.M. of 4, 8, and 16

I

=1
+

e
+
I
_|_
I

(2x2x2x2)=16

(32 + 12 + 26 4 55)
16

{16 =1 =16,16 x 2 = 32, [16 = 4 = 4,4 x 3 = 12],
[16 =+ 8 =2,2 x 13 = 26| and [16 + 16 = 1, 1 x 55= 55|}

_ 138 _ -13
_W_Tm

Q16



Answer:

Total cost of both articles = Cost of pencil + Cost of eraser
Thus, we have:

2 7 17 a7 (34 4 27)

Rs3s + Rs25= 5 + 5 = %
(L.G.M.of5a.nd10= (5x2)=}.l}) = o = Rs6
Hence, the total cost of both the articles is Rs 6 %_

Q17
Answer :

Total cloth purchased by Sohini = Cloth for kurta + Cloth for pyjamas
Thus, we have:

(4%+2%)m=(%+%)m (L.C.M.of2and3=(2x3)=ﬁ)
((2?:1&]) m

. - 43 1
{6 +2=33x09—27and[6+3=22x8=16]} — (F)m= 7im
.~ Total length of cloth purchased = 7% m
Q18
Answer:
Distance from Kishan's house to school = Distance covered by him b\" ricksh js covered by'

him on foot
Thus, we have:
3 1 ‘

= (2+3)m - (L= ®
(L.C.M.of?and-i:(? XE) :4)— = ﬁ%km
.ﬁ

+
[T —

2
2

1,1
Hence, the distance from Kish u school is 6% km

Q19
Answer :

Weight of the % ed with gas = Weight of the empty cylinder + Weight of the gas inside the
cylinder

Thus, we have:

(162 + 142) ke
_ (%4—%)]{55 (L.C.M.of5aud3=(3x5):15):
(w)kg - () kg -3 f ke

Hence, the weight of the cylinder filled with gas is 31 1—?5 kg



Q4
Answer :
5 4
L] L]
36,9
2|23
3\1,3

B

5

Qs

1

Answer:

L s
2 g

Fraction

Exercise 5F
Q1

Answer :

Difference of like fractions = Difference of numerator
5 1 _ By A g

-+ Common denominator

B B B - Z -2
Q2
Answer:

Difference of like fractions = Difference of numerator - Common denominator

i _ s _ 08 2L 1
12 12 12 - /l'fﬂ -
Q3

Answer:

Difference of like fractions = Difference of numerator - Common denominator

3 4 31 18
47 ~ 27 =% — 7
(31— 18)
N

_ 13

- T

LCM. of6and9=(3 x 2 x3) —18 \
Now, we have:
. _ 15, 4
T 18 9
- — I

'

L.C.M. of 2 and x 2)=8

Now, we
1 1

2 2

have:

x4

4

2 |3, 12

2|4,6

2‘2,3

31,3

|1,1

LCM of8and12=(2 x 2x 2x3)=24
Now, we have:

5 _ 5x3
B T 8x3
5 _ T
8 12

Q7

.71 _ Ix2 _ M

247 12 T 12x2 T~ 24
_ 15 _ 14 _ (15—14} _ 1
T 4 24 T ™



33,5

5.|1,5

1,1

(%]

L.C.M. of O and 15 =(3 ® 3 x 5) = 45

=|R

23 _ (2-09) _ s _ gm
15 45 D

{45+ 0 = 5,5 x 25 — 125/ and [45 = 15 = 3, 3 x 23 = 60|}

1,1

&
e

w

o

®
L.C.M. 0f83ud12:(2x2x 3T

|4
%
)

|
&

== 3 = 5

..4
=
i

b4

{24 + 8 =3,3x 20 24 + 12 = 2,2 x 29 = 58]}

3‘1,3
L.C.M. of 10 and 15 = (2 % 3 x 5) = 30

(60 —44)
30
{30 = 10 = 3,3 x 23 — 60] and [30 = 15 = 2, 2 x 22 — 44]}
’55
Ay
5
L]

1,1

Q10



Answer:

=]
wales
|
w
e

= =2 L.C.M.of3and4=(2x2x3)=l2

_ {s0—45)
12
fl12+3=4,4x20=280and[12 + 4 = 3,3 x 15 = 45|}
5
= 1
i1
-2l

Q11

Answer:

2
752
T_w

1 3
LCM. of1and 3 = 3
(21— 17)
3
{2+1=33x7=21and[3 +3=1,1x 17 = 17]}

1
=13

Q12

Answer :

3
10 — ﬁg
— o _ 51
1 B
LCM. of1and 8 = 8 c
(80— 51)

s @
{[8+1=288x 10 = 80] and [8 = 1, — 51]}
_

B
=3 o
- N
Answer :
We have: 6
Q x3x3) =18

{18 + 6 =3 5—15,[18 + 0 =22x4 —8and[18 + 3 = 6,6 x 2 = 12]}

@ |en

Q14



Answer:

We have:

S B
Ro
o
s

iy
-
[y
[1%]

L.C.M. of 4, 8 and 12 = (2>< 2x2x 3) =24

(15418 -14)
_ 24

{24 +8=3,3x5=15,[24 + 4 =6,6 x3 =18 and [24 + 12 =2,2 x 7T =
(33— 14)

Q15
Answer:

We have:

2 11
itTE

3[1,150 cc

el

L.C.M. of 15 and 9 = (3 %3 ¥ 45

(90 4 33 -25)

= —0

{45 = 1 = 45,45 x 2
(wis) _ m

45 45

=15 =3,3 x 11 = 33]and [45 =+ 9 =5,5 x 5 =

Q16

Answer :

We have:
3 5
53 — 4% +3

_»n_ =
4 12+

L.C.M. of 4, 12 and 6 = (2 x 2 ><3) =12

'2|4, 12, 6

alg =1~

2(2,6,3

3| 1,23

2| 1,21

|1,1, 1

(6953 438)
= 12

{12 +4=3,3x23 —69,[12 +12 =1,1x53 =53]and[12 = 6 =2,2 x 10 =
(o7 —53) _ s _9 _ 41
12 - 12 T2 — 2

Q17



Answer :

We have:
T _ g1
2+5E 315
2 5T 59
=31tnm =

5|1, 10, 15

21,23

3‘1,1,3

‘1,1,1

L.C.M. of 10 and 15 = (2 W5 X 3) = 30

(60 4 171 —118)

30
{[30 =1 =30,30 x 2 = 60], [30 = 10 =3,3 x 57 = 171] and [30 + 15 =2, 2 x 50
_ (m1us) us _ g2
- 30 = 3 - ‘W
Q18
Answer :
We have:
1 1
8—35 —23
_ 8 _ 7T _ 9
-1 F) 4
201,24 c
211,1,2 ‘ ,

1, 1,1 ‘}.
L.CM of 1,2 and 4 = (2 ®x 2] =
(3214 9)

4

{[4+1=44x8=232 x — 14]and[4 + 4 =1,1x 9 = O]}
_ b2-2: _ 9 _
_ e s

L.C.M. of 6, 8 and 12 = (2x2x2x3) =24

_ (m2-81462)
- 24
{[24 + 6 =4,4 x 53 = 212],[24 = 8 =3,3 x 27 = 81]and [24 + 12 =2,2 x 31 =
_ bras) e _ gl
24 24 24

Q20



Answer :

LCM. of6,5and 3 = (2 x5 x 3) =30

(185 156 4 100)
- 30

{30 + 6 =5,5 x 37 — 185, [30 = 5 =6, 6 x 26 — 156], and [30 = 3 =10, 10 x 10

o (esomsn) et g
= w0 T, — %u
Q21
Answer
We have:
3+12 + 2 -2
3 [i] 2 7
e Rl 6 Rl
5‘5,3,15 c
3|1,3,3

L.C.M. of 1, 5, 3 and 15 =

(#5414 10-7)
o 15

{[15 + 1 =15,15 x 3
[15+3=55x

m ) _

+5=33x6=18,
d15+15=1,1x7=7}

2 _ 42
5_45

Q22

Answer :

Let x be added to 9 2 to get 19.

9% +x=19

Thus, we have :

x=19-92
19 20

=3 = L.C.M. of 1 and 3 is 3.
(57 — 29)
3

f3+1=33x19=57and[3+3=1,1x 20— 20}

_ 3 _ g1
_3_93

Q23




Answer:
Let ¥ be added to ﬁ T 1o get 8—

b
. 615 + x = 85
Therefore, we have :

X = 8—; —ﬁ%
41 a7
=5 = LCM. of 5and 15 = (5 x 3) =
_ {123—97)

15
{15 +5=233x41 =123 and [156 = 15 = 1, 1 x 97 = 97]}

A gl
_15_1

216,9,3

313,9,13

311,31

‘1,1,1

L.CM of3,6,0 = (2 x3 x 3) =18 0

[105 + 74| — [64 4+ 60|

= &'
{[18+6=3,3x35=1I]5]and[18+9=2,2x3.—74]}
{[18 + 9 = 2,2 x 32 = 64] and [18 + 5 0 = 60]}
_ o] |24 ss _ g1

- 18 - 1 — Y18
Q25

Answer:

Let us compare 3 3 and

IXT= 21andd><5 20
Clearty. 21 >20

LCM of4and7 = (2 x 2 x 7) = 28

28 +4=7,7Tx3=21]and [28 =7 = 4,4 x5 = 20]}
:213
Hence, mgrea.terthan by

Q26
Answer :

Amount of milk left with Mrs. Soni = Total amount of milk bought by her — Amount of milk consumed
s Amount of milk left with Mrs. Soni

1 3

= Tz — 83

=2 -2 L.C.M. of2and 4 = (2 x 2) =
(30 2)

4
{4+2=22x15=230and[4 +4=1,1x23 =23}
=1§1itras

FSE

. Milk left with Mrs. Soni = 1% litres

Q27



Answer :
Actual duration of the film = Total duration of the show — Time spent on advertisemenis

:(3% — 1%) hours
(1" I)hou_rs L.C.M. of 3and 4 — (2 x 2 x 3) — 12

-

3
402

- (252 o

{12 =3 =4,4x 10 =40]and [12 -4 = 3,3 x T = 21]}
19 7

= (ﬁ) hours =15 hours

Thus, the actual duration of the film was 1 1—72 hours.

Q28
Answer:
Money left with the rickshaw puller = Money earned by him in a day — Money spent by him on food
= Rs (1974 — 563) L.C.M. of 2and 4= (2 x 2) — 4

275 227
=RS(T = T)
{l4+2=22x275 —550]and [4 + 4 = 1,1 x 227 = 227]}

=RS(M)=R-;(%)=BSSG§

Hence, Rs 80% is left with the rickshaw puller.

Q29
Answer :
The length of the other piece = (Length of the wire — Length of on
= 3 _ 5
= (2 = 3) m

1
p—
]
[
o]
h —
=

; L.C.M. of 4 and 2@2 x2) =38
(ms—ﬁ)m {8 +4=22x [B+8=1,1x5=5]}
17 1
=(?)m=2§m .
Hence, the other piece is 2?11 m long. x

QO



Fraction
Exercise 5G

Q3

Answer:

() 5

Factors of 24 are 1, 2, 3, 4, 6, 8, 12, 24,

Factors of 36 are 1, 2, 3, 4, 6, 9, 12, 18, 36.

Common factors of 24 and 36 are 1, 2, 3, 4, 6, 12.

HCF =12

Dividing both the numerator and the denominator by 12:

gl

4+ 12

12

b2

Q4

Answer : c
(a) 15 ‘ '
Explanation: .
4 20
‘We have :

20=4x5
S0, we have to multiply the n tor 5.
x=3x5=15

) N\
Answer :
R\

Explanation?

46 _ 3

(% - 3)

Now, 3 = 45 =+ 15

S0, we have to divide the denominator by 15.
e =60=15 =14

L e )

(Fractions having the same denominator are called like fractions.)

Q7

Answer :

(d) none of these

In a proper fraction, the numerator is less than the denominator.

In a proper fraction, the numerator is less than the denominator.



Q9
Answer :

3 3
b3 >z

Between the two fractions with the same numerator, the one with the smaller denominator is the
greater.

Q10

Answer :

(c) §
25,36, 10
5|5,3,3,5

3‘ 1,3,3 1

‘1,1,1,1

LCM o075 3, 6and10=(2 x 3 x 5)=30

Thus, we have:
3 _ 3x6

5  5x0

2 2xiD
3 T 3Ix10
5 _ &5x§
B~ Gx5
7 _ Tx3 _ ™
M T anx3 0 #

. The smallest fraction — ;.—? = %
Q11

Answer :

(0)4 ®
Among the given fractions with the same nume the smallest denominator is the
greatest.

B1% g I

Q12 ®

Answer : x
[}
EV
Among like fractions, the fr @ ith the smallest numerator is the smallest.

Q13

Answer:

(@) 5

Explanation:
2 | 4, 6,12, 3

212,3,6,3

3‘1,3,3,3

‘1,1,1,1

LCM of4 6 12and3=(2 x2 x 3)=12
Thus, we have:

3 _ 3x3 9

I T Ixs i)
5  5x2 10
6 6x2 12
2 _ 2x4 _ B
3 T 3x4 12
7

12
Clearly, % is the smallest fraction.

Q14

Answer :



Answer :

(c)42

On dividing 34 by 7:
Quotient = 4
Remainder =6

34 i}
T=4+?=4

=1l

Q16

Answer :

(b)

L [

Explanation:
Addition of like fractions = Sum of the numerators / Common denominator
3
541
=F oy 1o B0 & 3§

B B 3 _x‘ 4

Q17

Answer:

(o) 3
Explanation:
5 1 _ -1 A

— 1
B & -~ 8 o a2

Q18

Answer :

) o
Explanation :
3 @
33 —2—1
15 ]
TE T

o - 11
=3 =3 =13

Answer :
@14+ 0
Explanation:

3|3,ﬁ,9

2|1,2,3

3‘ 1,1,3

‘1,1,1

%+§_% (L.C.M.ofB,ﬁandQ:(2x3x3}=18)
(15 + 12 8)
- 18

{[18+6=3,3x5=15,[18+3=6,6x2=12]and[18 +0=2,2 x 4 = §]]
=M— 19 _ 11

B = IR ik

Q20 Answer :

(@33

Explanation:

1 33 10 33
Let us compare 33 and 5o 5 and T
10 x 10=100and 3 x 33 =99
Clearly, 100 = 99
L Ao . 33 1 33
T or.'_’.3 >3
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